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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMR\IATION YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN
OR MISSING PAGES OR ITEMS, ETC. IF. SO, GET IT REPLACED BY A COMPLETE"
TEST .BOOKLET.

ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY.
BE TN THE APPROPRIATE PLACE IN THE ANSWER SHEET .
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Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses {answers). You will select the response which
you want to mark on the Answer Sheet. In case you feel that there is more than'one correct -
response, mark the response which you consider the best. In any case, choose ONLY ONE

- response for each item.

You have to mark all your rcsponses ONLY on the separate Answer Sheet prov1ded ‘See
directions in the Answer Sheet.

All items carry €qual marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Bookict, you have to fill in some particulars in the Answer Sheet as per instructions sent
to you with your Admission Certificate.

After you have completed filling inall your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator enly the Answer Sheet.
You are permitied to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE
IN THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for
which a wrong answer.has been given by the candidate, one-third (0-33) of the marks
assigned to that question will be deducted as penalty.

(ii} If a candidate gwes more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will ‘be same penalty as
above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candldatc there will be no
penalty for that question. :
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What is the value of (1 +1)° + (1 - i)°

where i=v-17
(a) -8

(b) 8

(c) 8i

d - Si‘

What 1s the value of
tan 9° — tan 27° — tan 63° + tan 81° ?

(a) 1
(by 2
(c) 3
(d) 4

Ifx=ycos(2?n]=zcos[%t], then what
.isxy+yz+zxe_qualto‘? |

(@ -1

(b 0

(c) 1

(d 2

If sin A + sin B + sin C = 3 then what is
cos A + cos B + cos C equal to ?

(a) -l
() ©
(c) 1}
@ 3

~(3)
2

2

At a point 15 m away from the base of a

15 m high house, the angle of elevation
of the top is

(a) 90°

(b) 60°,

(c) 45°

(dy 30°

The simultaneous equations 3x + 5y =7
and 6x + 10y = 18 have

(a) no solution

(b) infinitely many solutions
(c) unique solution .

(d) any finite number of solutions

What is the principal . value of-

(a)

(b)

w|A

(c)

&A

oA

(d)

What is the 10" common term between
the series 2 + 6 + 10 + ... .and
1+6+ 11+ ... ?

(a) 180

(b) 186

(c) 196

(d) 206

(Contd.)




4.

(1+i)5+(1—?)5$rm‘rr?ﬂn3?

(i=v-1)

(a) -8
() 8

‘(c) 8i

) - 8i

tan 9° — tan 27° — tan 63° + tan 81° &
AT w\\ g ?

(@ 1

() 2

(€) 3
@ 4

fy xiy‘cos[%1=zcos[%§—), i

xy+yzl+zx fred wwET 2 ?
. (@) -l

®) ©
() .1
@ 2

e sin A+sinB+sinC=3 @
cosA+cosB+cosC fFa® quEec 2 ?

(@) ~I

(b) O

) 1
@ 3

3

5.

6.

.

(d)

TF IS5m F9 9X & AEAR T 1S m &
78 X Rua Rrg W of #1 ImE Ao
¥ 8 7 -

(a) 90°

() 60°

(c) 45°
@) 30°
6x + 10y = 18 #

@) # 7o A8 B

(b) IFad: T35 A B

3K + Sy = 7

() IR B

(d) Bt & oRPm wer ¥ W 2

af 2
sec (‘J—i}mgmmw%?

KA

P

=B

o
wid

(c)

&la

oA

AR 2 + 6 + 10 + ... AR
1+6+11+.... 3 f9 104 wdfass 92

(Contd.}




10.

1.

12,

If the 10" term of a GP is 9 and 4% term
is 4, then what is its 7% term ?

@@ 6
() 14
(©) 2714
d) 56/15

. The function y = .f(x)-= mx + ¢ has

{a) .maximum' point but no minimum
point | _

(b) minimum point but no maximum
point

{¢) both maximum and minim‘um poinis

(d) neither maximum point nor minimum

point

If log,, 2, log,q (2% — 1), log,q (2% + 3)
ar¢ three consccutive terms of an AP, then

which one of the following is correct ?

{ay x=190

by x=1 |
(¢) x=log, 5
(d) X = logg 2

What is the locus of points of intersection

of a spherc and a plane ?
(a) Circle

(b) Ellipse

(c)l P-arabola

(d) Hyperboia

-]

13. The equation x% — 4x + 29 = 0 has one
root 2 + 5i. What is the other root ?

(i=v-1)

(@) 2 , "
) s |
(c) 2+ 5i

(d) 2 -5i

14.- What are the square roots of — 2t ?

(i=v-1)
(a) (1 +1)
(by £ (1 —1)
(c) =i
(d +1

15. What is the area between the curve

T
y =c0s3x, 0<x Sg and the co-ordinate
axes ?

(a) 1 square unit

(b) % square unit
1 .
(c) 3 square unit

(d) % square unit

16. At an extreme pbiht of a function f(x),
the tangent to the curve is

(a) parallel to the x-axis
(b) perpendicular to the x-axis
(c) inclined at an angle 45° to the x-axis

(d) inclined at an angle 60° to the x-axis

(Contd.) -
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9.

10..

e & GP + loaqu9%m%ﬁtm
T 4 8, o 74f ug w1 gl 7

{a) 6

(b) 14

() 27114

(d) 56/15

HH oy = f(x) =mx + ¢ #

(a) dfteem Reg ¥ feeg AR T
freg T 2

'(b)w'ﬁqamﬁémﬁ

forg %1 2

(@) sftrpam @ FgTaw aAl faeg ¥

11.

(d) ~= o sRwag @ 7 & e 9wy
% B

aR log,g 2, log,q (2% — 1), log, (2% + 3)
BFBdH AP & N9 warm ue €, @ Freafafaa

L H R FH-w 87

12.

(a) x=20
by x=1
{c) x=log, 5
(dy x =logs 2

s R, gmaa 3 yfed fRegsl @
forguy T 2 7

(@) ™

(b) drdgm

(c) TeaeY

(d) FRYETT

alh

13.

14.

15.
3 &7 @ e TR ?

TR K _dx + 29 =0 W T @
2+5i 8 @A g F 2 ? (i=v-1)
(a) 2

(b) 5

{(¢) 2+ 5i

() 2~ 5i

—2i % afgw #E ? (i=4-1)

S (@) (1 +1)
(b) +(1-1)
€ =i
@ =1

aF y = cos3x, 05}{5%@1{%@ Tt

(@ 1| 7 @R

(b) %?ﬂfﬁfﬁl‘%

(d)y i—aﬁ ECOC]

16.Wf(x)%wfﬁgwwaﬁm

T
(a)
(b)
(©)
(d)

x-qH H TATC 8
x-9F 9 T B

xFE ¥ 450 F P G I 3
X-FEH ¥ 60°F B U A 2

(Contd.)




17.

18.

19.

20.

equal to ?

dx
(a) 1

() -1

(¢) x
1
(d) x2

In binary system the decimal number (-3
can be expressed as

(@) (0-01001 .....),
(b) (0-10110 ......),
(¢) (011001 ......),
(d) (0-10101 ......),

Two letters are drawn at raﬁdofn from the
word ‘HOME’. What is the probability
that both the letters are vowels ?

(a) 1/6
(b) 5/6
) 172
d) 173

Ifz=1+1itan a where t<q <3?n, then
what is | z | equal to ?

(a) sec o

(b - sec «

(c) sec? o ’

(d) — sec? a

=]

o0y 1 21
If y= 1+x4] 1+x2]{]—x4} then

d
- what is =X

© 22

23,

24,

()

There are 4 candidates for the post of a
lecturer in Mathematics and one is to be
selected by votes of 5 men. What is the
number of ways-in which the votes can
be given 7 '

1048
1072
1024
625

(a)
(b)

(d)

P(n, 1) N

What is the value of z ;
rt

r=1

T @ 2% -1

(b) 2°
() 2"
(d) 27 + 1

What are the co-ordinates of the foot of
the perpendicular from the point (2, 3)
on the line x +y - 11 = 0 ?

(@) 2,9
(b (5, 6)
() (-3, 6)
(4 (6, 5)

What is the degree of the differential
equation :

2
3Y3 2
Iy P yans|dy +5(d—y]=o 2
\dx dx dx |

{c) 273
(d) Not defined

{Contd.) -




17.

18.

19.

el

Y o w27
dx

(a) 1

) -1

() x

|
d x2
feemard) val & comes §@m 03 e
g R T HT ¥Fd B !
(a) (0-01001 ......),
(b (0-10110 ...... )y

© (e). (0-11001 .....),

() (010101 ......),

7% ‘HOME’ ¥ 2 3= argfeoa: P

T - FEH) G YR 8 3 D91 aer

@ 8 ?
(ay 1/6

(b} 5/6

20.

© 12

() 173

e z=1+itana VB "< <§2£, a

.|Z|WW%‘?

(a) sec a
(b) - sec a

(c) sec® o

(d) - sec? o

© ~]

21.

22.

23.

24.

it N cveE & 1@ B R 4 s
- ¥ X 5 e F AT g, U Fo9aT
FET &) IF T Y gEn FeAT @
R dvc RY o1 g & 7

(a) 1048
(b) 1072
(c}) 1024
(d) 625

i (n D

AT w9 8 7
(@) 2° -1
(b) 2

(C) 2n-l

(d) 2"+ 1

@ x+y—11=0w @7g (2,3) & &=
@ qe » fduis o & 7

(@ (2,9

(b} {5, 6)

(c) (-5, 6)

(d) {6, 5)

FTHEA WHISI

2

d’y d2y [dy]
4y F 143 5[ =0
{dxz] * (dx2J+ dx

# fft w7 2 7
@) 3 |
(b) 2

() 213

(d) ofmtm =& 2

(Contd.)



25.°

26.

27.

28.
. of the data given below ?

What is the area enclosed by the equation
X2+ y2 =129

(a) 4n square units
. ]

(b) 2m square units

(c) 4n? sqﬁare units

(d) 4 square units

J' dx
Sin2 XCOSZ X

What is equal to ?
{(a) tan x + cot x + ¢

{(b) tanx ~cot X +¢

(c) (tan x + cot x)? + ¢

(d), (tan.x — cot x)? + ¢

where ¢ is the constant of integration.

x o l
The roots of the equation | x 1|=0
B v 1
are independent of
(a) o
(b) P
) ¥
(d) o, P andy

Which one of the following is the mean

x; [6]10]14 18242830
f,(2{4]7{12[8[4]3

(a) 17
(b) 18
(c) 19
(d) 20

- -]

29.

30.

31.

32.

The

If aand b are two vectors such that
a e b=0and a x b=0, then which one
of the followihg is correct 7

(8) &
(b a
(c)
(d)

is parallel to b,
is perpendicular to b.
Either dor b is a null vector.

None of the above

If y=In+tanx, then what is the value

f)

dy i
of dx at X_Z

(a) 0O

(b)
(c)

- (d) 1

point in the interval (0, 2n) where

f{x) = e* sin x has maximum slope is

"
(a) 7

b =
® 3
() =

(d) B}

If tan®=+m | where m is a non-square

natural number m, then sec 20 is
(a) a negative number

(b) a transcendental number

(¢c) - an irrational number

(d) a rational number
(Contd:)




25.

28.

T x2+y2—2ﬁ“qﬁaa FAFT T
a 7

(a) 4nﬁ1f“§$lwl
(b} 2n T THEA

- (©) 4n? 971 IHTRGi

(d) 41 sl

Jor 2 e w22
sin“ x cos” x

(a} tan x + cot X + ¢

{(b) tanx —cotx +¢

(c) (1an x + cot x)? + ¢

(d) (tan x — cot x)%2 + ¢

T8l ¢ gUTFeT =T 8

x o |
B x l=0%"£ﬁ
By 1

(@) o ¥ @y 2

() p ¥ @A B

() vy ¥ waa &

(d) o, pIAX § & w@ix 2

ﬁwﬁ%ﬁﬁ%ﬁa—mw,%ﬁi’rnﬁ
T F A B 7

6|10 |14 |18 |24 128 |30
214 ([7(12|8 |43

Xj

f.

(ay 17
(b)Y 18 -
(c) 19
(d) 20

Lo

29ufaaaﬂ1baﬁqﬁm%mwﬁa

ieb=0 33 x b=0, O FreAfifeR &

%Eﬁm-mwa‘a%?

(a) .5l b

by aLlb

) m @ i 4 b ymu alkw 2
(&) SHw ¥ & F

. d |
300f y=Invtanx, al —d—i* & X =

F oA BT
(a) O

(b) -1

(c) 172

@ 1

1. W(O,zﬁ)mﬁﬁ%aﬁ#-m%aﬂ

32.

.f(x)=e“sinxﬁ§T3Tf€lWW1ﬂT% ?

(a)

T
(b) 3

() =

3n
@ >

tanﬁrﬁmmmmﬁﬂ*%@l

sec 20 =1 B ?

_ (a) VAT |Ew

(b) ¥ERIT el

(c) uR"T wem
(d) AT wemw

(Contd.)




33.

34.

- 35.

36.

In any triangle ABC, the sides are 6 cm,
10 ¢cm and 14 c¢m. Then the triangle is
obtuse angled with the obtuse angle equal
to

(a) 150°
(b) 135°
(c) 120°
(d) 105°
In a triangle ABC, if A = tan™' 2 and
B = tan~! 3, then C is equal to |

TI‘.
(a) 3
-TII
(b) 2
-
(<) °
n
(d) 3

Let &, B be the roots of the equation

"(x —a) (x - Bb)=c¢,.c £ 0. Then the roots

of the equation (x - a) (x — ) + ¢ =G are
(a) a,¢c

(b) b, c

(c) a b

(d a+bat+tec -

If the equations x? — px -+ q = 0 and
xZ - ax + b = 0 have a common root

and the roots of the second equation are
equal, then which cone of the following is

correct ?

(a8) aq=2(b+ p)

(b) agq=b+p
(©) ap=2(b+q)
(d) ap=b+gq

37.

38,

39.

40.

n

- {a) P
L
(b)g
L
(C);;
a =
(d) 6

Ifn!, 3 x(n!)and (n+ 1)! are in GP,
then the value of n will be

(a) 3
(b) 4
(c) 8
(dy 10

The smallest positive integral value of n

n
for which (1—+2~J is purely imaginary
with positive imaginary part is

(a) 1

by 3

(c) 4

(d) 5

What is the area of the triangle formed
by the lines joining the vertex of the
parabola x% = 12y to the ends of the latus
rectum ?

(a} 9 square units
(b) 12 square units

(c} 14 square units

.(d) 18 square units

What is the angle between two planes
2x—-y+z=4andx+y+22=67




33.

34,

35.

36.

R B B ABC 9 qoTE 6 om,
10 cm 3T 14 cm €, & 39 afafg

ﬁwaﬂm-wmw%?

(@ 150°
(b) 135°
© 120°
(d) 105°

Pgs ABC # aR A=tan' 2 @
B=tan'3 8 @ C fFg® avex 2 7

w|A

(a)

(b)

L

(©

o -

(d)

SN

T Al o, B T (x —a) (x - b) =c,
c#0 & 7d B, @ e (x = q)
X~-P)+c=07F g F & ?

{(a) a, c

{(b) b, c

(¢) a,.b

(d) a+b a+c

R wliFn x2 - px + g = 0 WY
x2 —ax +b=0 # wS @ ¥ I
EL TR & 9w wae §, W Prefefug
¥ g :9-91 us @gd) & °?

(a) aqg =2(b+ p)

(b) ag=b+p

(¢) ap=2(b+7q)

(d) ap=b+gq

11

37. TR nL,3xm )T (n+ 1) GP A B,
Won F A3 7@ 2 ?

(@ 3

(b) 4

(c) 8

d) 10

38,

39.

40.

b1
(a) 5
® 3
i
(c) 1
_myg

-naﬁragagﬁqtguﬁm-—r#m%ﬁm%

i [:—;—:) e e 2 R
T AYHeqT wr g & 7

(a) 1, '

(b 3

(c) 4

(d) 5

wEy x? = 12y ® ufif & 3g@ Tifdes

# O A A ach e ¥ 9 P

w ORAGT T B 7
(a) 9w wehrea

(b) 12 @f FHTEm
(¢) 14 3t zHri
(d) 18 aff gFr=ai

éTE’qﬂﬁTQx—y+z_=4QEi ::c-IFy+2z=6
3 dwow B o 7




41.

42.

43.

What is the equation of the curve

passing through the point 0,%)

satisfying the differential equation
sinxcosydx +cosxsinydy=07?

| V3

(a) cosxcosy=-—é—-
3
(b)-sinxsiny=%
. 1

{¢) sinxsiny= 7
_ 2
1

(d) cosxcosy= 3

A husband and wife appear in an interview
for two vacancies in the same post. The
probability of husband’s selection is 1/5
and that of wife’s selection is 1/3. What
is the probability that only one of them
will be selected ?

(a)
(b) 2/5
() 3/5
d) 4/5

1/5

If o and B are the complex cube roots of
unity, then what- is the value of

A+ +B U +a)(1+p)?
(2) |
(b) 0O
{(c)y 1
@ 4

-1

12

44. A tower of height 15 m stands vertically

43.

46.

on the ground. From a point on the ground -
the angle of elevation of the top of the
tower is found to be 30°. What is the
distance of the point from the foot of the
tower ?

(@ 15y3m

() 1043 m

) 5V3m
(d) 30m ‘

[ftan A~—tan B=xand cot B—cot A=y,
then what is cot (A — B) equal to ?

1.1
@ 7%

1.1
® 375
oy Lt
© X7y

L
@ ~X7y

There is a point inside a circle. What is
the probability that this point is close to
the circumference than to the centre ?

(a)
(b)
(¢)
(d)

3/4
172
1/4
1/3

{Contd.) |




41.

42.

43,

@ T W GhE T %_Gﬁ-ﬁq‘g

| (o,%}.ﬁlpﬁn% A s W

sinxcosydx+cosxsinydy=6 Cal

g FeE @ ? |
3

(@) cosxcosy= —— .

[\ ]

(b) sinxsiny=

5
2

' 1
{¢}) sinxsiny= 5

. ) . l - .
(d) cosxcosy= 3

w o A T T & T R D R
? R o gremes A il g iy &
g7 9w B yREd 1/5 8 @R vl @

CgA W W wRwar 1/3 20 AT A &
FIX TH F YT A WHwa w7

(@) 1/5
by 2/5
(c) 3/5.
(d) 4/5

R o I BT P FEW YA E, @
(1+a)(1+PB) (1 +a®)(1+p2) F aAF
e T '

(a) -1

by 0
‘Ac)y 1

(d) 4

44. T 15 m F= AR JHTS R FE@AER

@t 31 yfrgs @ fft frg @ HAR &
gt w1 IFAET WO 30° W AW g |
#R & we @ 39 Reg @ g feah
2? :

@) 153 m

- (b) 1043 m

45.

46.

(€) 5J3m

{d) 30m

1R tanA-tanB=x T cot B—cot A=y, |
Al cot (A - B) e awmw B ?

g9 P FeX TF Ry &1 @ Fon e
2 B ow Reg @ A e Ry R
st Free 2 7

(a) 3/4
(b) 172

©) 1/4
) 173

(Contd.)




47.

48.

49.

How many diagonals willlbe there in an
n-sided regular polygon ?

@ n(n2~ 1)

) In (Inz— 3)

{c) nz—n_

@ =

Students of three sections of a class, having
30, 30 and 40 students appeared for a
test of 100 marks. The arithmetic means
of the marks of the three sections are 72-2,
69-0 and 64-1 in that order. What is the
arithmetic mean of the marks of all the
students of the three sections 7

(a) 666

52.

(b) 673
{c) 680
(d) .70-6

What is the focal distance of any point
P(x,, y,) on the parabola y2 = dax ? 53

(@ X, tvy -

(®) xy,

. (c) ax,

() a+x

14

50.

51.

If the vectors

—i-2xj-3yk dnd

i-3xj—2yk are orthogqnal to each
other, then what is the locus of the point
9?7 .

(a) a strdight line

(b) an ellipse

{c) a parabpla

{d) a circle

What is the value of the determinant

a=Db
b—c

c—4a

b+c a
c+a bl|?
a+b

(a) a3+bd+c?

(b) 3be |
() ad+ b%+¢3 — 3abe
@ 0

If a, b, ¢, d, e, fare in AP, then (¢ — ¢)
is equal to which one of the following ?

(a) 2(c — a)
by 2(d -¢)
(©) 2Af—d) ’

(d) (d-¢)

. Let a and p be the roots of the equation

x2 + x + 1 = 0. The equation whose roots

"are o!? and B7 is

(@) x2-x-1=0
(b) x2—-x+1=0
() x2+x-1=0

(d x2+x+1=90

(Contd.)




47. ngorsl T wegaw K OBt Rt 5o ofy mRw _i_ok-ayk T - 3x-29k

48.

B ?

n{n-1)
2 ' ’

(a)

b) nin-3) ‘

(c) n2-n

(d)

100 s=f ¥ ws glenm &, 30, 30
40 franffdl o @ sgamd ¥ R

L Wi U1 99 AT M & gTaie

49.

F FHIAX W 722, 69-0 AT 641 IW
FH R B A s # o i)
F WIS F GAFAX A FATE 7

{a) 666
{b) 673
(c) 680

@ 70-6

TEET Y2 = ddx T i g P(x,, y))

# wFE o w7 R 7 53.

(a)
(b)

Xy Ty,

XYy

15

2 51

52.

@

& ga} @ dewrfa 8, @ By (x, y) &1
Rrguy 77 2 ?

‘(a) W@ TE@m

(b) dfga

(¢c) UG
(d) g9
a—b-bfc-a

b-c¢

cC—a

T c+a bl o e

a+b ¢
g ?
(a) a3+ b%+c?

(b) 3bc

(¢} a®+ b3+ c3 - 3abe

(dy 0

R oabocdef AP ¥ E (-

C Preafofee ¥ @ fros sxmc R 7
‘(a) 2(c -~ a) l

() 2(d - c)’
(€) .2(f - d)
@ @d-o

AT AR o WX B whFm 2+ x+1=0
F a2 98 wiERn w1 2 Ree
a'? A pTE ?

—

xX2-x-1=0

b x2~x+1=0
‘€ xX+x-1=0
d 2+x+1=0

(Contd.)




54,

55.

56.

A vertical tower stands on a horizontal
plane and is surmounted by a vertical flag
staff of height h. Ata poiﬁt P on the plane,
the angle of elevation of the bottom of
the flag staff is B and that of the top is .
What is the height of the tower ?

h tan
@) tan o — tan B

htanB'
(b) tano +tan B

hcosf
(c) cosa —cosP

-

(d) cos(a — P)

p -q 0
If10 p ql|=0, then which one of the
@ ¢ p
folldwing is correct ?
(a) p is one of the cube roots of unity
(b) q is one of the c_u’;)c roots of unity

© &

q is onc of the cube roots of unity

(d) None of the above

If (p, q) is the --point on the x-axis
cquidistant from the points (1, 2} and
(2, 3), then which one of the following is

correct ?
(a) p=0,q=4.

w)p=$q=0
(c) p=32,9=0
(d) p=1,q=0

57.

58.

59.

- A{d)

~lf the variaﬁce of the data 2, 4, 5, 6, 17

is v, then what is the variance of the data
4,8,10,12,34 7

(a) «v

(b) 4v

(¢) v

(dy 2v

If & is the unit vector perpendicular to

both the vectors i and b , then what is

. another unit vector perp'endicular to both

the vectors 3 and b ?

(a) ¢xa

(by Sxb
(

o
—

=}

*

(c) -

o

X

ol

|

(= i}
N

1

(

| % B]

If p is the length of the péri)endik:ular drawn

X

2
o)

X

Xy :
from the origin to the line 3 + % =1, then

which one of the following is correct ?
I
(@ 27772

111
(b) ?‘7__*

a b2
LI
() p a b
i_11
(d) p a b




56.

(d)

55.

54, T AN THaW W UF FHEET TER
T 2 s o ) b 3R = oF@|ue

HAWRS WS 3| gAGA P U fag P WX
TGS ® T A AT dO fEwEe

| il F1 IEE I B ) AR B FEE

T 8 ?

htanf
tan o — tan B

(a)

h tan B

() ‘tancx,+tan[3

. hecosp-
O cosa—cosP

h
cos(a — )

‘p ~q 0
o0 poq
la 0 p
P wWE R

(@ p, ™R & U7 ol § § W 28
(b) q T F W F ¥ 2

() %,mﬁ%w-qfﬁﬁ%@%

@) SR ¥ ¥ A

=(},Fﬁmﬁﬁ

e (p, q), x-¥& T @ farg B o farga
(1,2) X (2,3) & 9071 W 8, @
Preafafem & & f17-w @ 2 7

(a) p=0’q24'

(b) p=4,9=0
¢y p=3/2,q=0
(d p=l.q=0

57. dft ¥4 2,4,5,6,17 & €@ v B, @
Td 4,8, 10,12, 34 F1 quqw FT1 8 7

{a) v

58.

(b) 4v

(c) v?

(d) 2v

aR ¢ w i aRw ¥, W 3 $)b,
AT gikw 9 o= B, @ FE-H @O
THE ART B, W 3 s p A e
WA g ? -

(a) cxa

(b) Exb

&8

x

ol
o

(c) =4

ol
x
jw |

—
)
X
ol

B’

(d)

a
X
T

o XY
. 1R g famg @ @ a+b 1 97 &=

™ v A ard p B, @ Prefifea o
J HF-9 & gE 8 ?

(Contd:)




60. If the sides of a triangle arc in the ratio

61.

62.

63.

2:JE:] +~f§ . then what is the smatlest

angle of the triangle ?
(a) 75°
(b) 60°
(c) 45°
(d) 30°

What is the value of

\/3+2J3+2J3+2J8+ ...... » 7
(@ 10
(b) 8

(c) 6
(d) 4

If A= {a, b, ¢}, then what is the number
of proper subsets of A ?

(a) 5
(b) 6.
(c) 7

() 8

.In a random arrangement of the letiers of
the word “UNIVERSITY’, what is the
~ probability that two I’s do not come

together ?
(a) 4/5
() 1/5
(¢} 1/10
(dy 9/10

64.

63.

66.

If tan A = 1/2 and tan B = 1/3. then what
is the value of 4A +4B 7

(a) n/4
(b) n/2
©) =«
d) 2n

An acroplane {lying at a height of 300 m -
above the ground passes vertically above
another planc at an instant when the angles
of elevation of two planés from the same
point on the ground arc 60° and 45°
respectively. What is the height of the lower

planc from the ground ?

(a) 50 m

100
(b) B m

(©) 10043 m

(d) 150(3+Dm

for what value of m are the points with
position vectors '10i +3j, 12i -5} and
mi+11j collinear ?

(a) -8

(b 4

(c) | 8

(dy 12




60.

61.

62.

63.

Rk Brge A el 2:/6:1443 B

T K B @
TR 7 '
fa) 75°

(b} 66"

(c) 45°

(d) 30°

B #1 gaw S

Jer2fse2 8r2 s w
oo R ? ' '
fa) 10
th) 8
{(c) 6

) 4

R’ A={a,b,c}, D A P IRT IuaT=ad
# gen fFah & 7

5
6
icy 7
8

e "UNIVERSITY' # s&Q ‘Ei-‘ TF
TgReE frm A 91 1 o Ew T s
wm T YilES g 7

(@) 4/5
(b) 1/5

(c) 1/10

(d) 9/10

19

64, of tan A = 1/2 3 tan B = I/3. 1
4A + 4B &1 W wr g ?

"(a) n/4
(b) n/2
(¢c) = |

(d) 2n

. gd ¥ 300 m # FAR X Isa@ g
PIS IAM 6 FY IAT F FI I 0@
g9 H FEAETQ: Al 8 99 QAT g
& g & Rl [{g & 3w e
w9 60° T 45° 1 T I amgue
H o ¥ Fams 7 oE 7

(a} 30 m

100

3

(b) m

(€) 1003 m

(d) 150(v3+1)m
m % e @ @ Ru RuR wRe

10i+3], 121 -5} @ mi+11j a8 g
e g7

66.

{a) ;8
(b) 4
{c) 8
-1d) 12 ,
' (Contd.)




67. _The mean of 7 observations is 10 and
that of 3 observations is 5. What is the
‘mean of all the 10 observations ?

(a) 15

(by 10

fc) 85

(‘d) 75

68. What is the ratio of coefficient of x!° to
' _ 15
the term independent of X in [xz +;] ?
(a) 1/64
) 1/32
© 1/16
d) 1/4

69. If a=! + b! + ¢! = 0 such that

l+a 1 |
I 1+b 1 | =Ax, then what 1s A
i i l+c

equal to ?

fa) — abc

(b) abc

(cy 0

d) 1

70. In a class of 125 students 70 passed in

Mathematics, 55 passed in Statistics
and 30 passed in both. What is the
probability that a-student selected at random
from the class has passed in only one
subject ?

(a) 13725
(b) 3/25
(c) 17725

(d) 8725

71. For what value of m are the vectors .

2i-3j+4k, i+2j-k and mi-j+2k

coplanar ?
| (a) 0

(b) 573

() 1

d) 8/5

72. In a triangle ABC, a = 8, b = 10 and

¢ = 12. What is angle C equal to ?
(a) A2
(b) 2A
(c) 3A

(d) 3A72

(Contd.)




67.

()

68.

69.

)

7 @0 H W 10 B OMT 3 gEn

FT AT 5 B0 T 10 Yeton &1 wrey gy

8 7
(a)
(c) 85

(dy 75

2 2" .
[x +;] A x ¥ ®A WA, xP
& e F AT TM R 7

@ 164 .
(b) 1/32
(c) 116

1/4

ge al+ bl +¢t=0 3@ v &

'+a 1
I 1+b 1 [=x a1 AfFed g
| 1 l+c¢

3?7

(a) - abc

(b) abc

(c) G

(d) I

. 7L

70, 125 faeonffa) =Y u= =& ®, 70 7t R,

72.

55 witegsr & T 30 Y H It gw
T = TiiawaT 8 % wen § agttowd
Fatra s el daw o fww & I<ivd

g ? | '

(a) 13/25

(b) 3/25

() 17/25

(d) 8725

m & frg @w @ fag. @fyw
2i-3j+4dk, i+2j-k W mi-j+2k
augeg & 7.

(a)

(b) 5/3

) |

d) 8/5

e ABC %, a=8,b=10 9T c = 12
g1 @ For C fred swEx 27

(@) A2

(b) 2A

(c) 3A

(dy 3A72

(Contd)




73.

74.

75.

. a .
If sm9=x+; for ali x € R — {0}, then
which one of the following is correct 7

(a) a=4

-
(by a2
o )

1
<=
(d) a~2

76.

77.

The equation tan* x — 2 sec? x +a? =0 °

will have at least one Teal solution if

(a) |a|<4
) |a|s2
©) lal< 3

{d) None of the above

The sides a. b. ¢ of a triangle ABC are in
arithmetic progression and ‘a’ is the

smallest side. What is cos A equal to ?

3c —-4b

(a) 2¢
b 3c—4b
4c-3b

©) 2c
y 3b-4c

(d) e

78.

79.

2 _ .
If [ {k?+(4—ak)x+4x’} dx <12, then
i

which one of the following is correct 2,
@) k=3 |
(b) 0sk<3

(c) k<4

(dy k=20

If p, q, T are positive integers and ©

is the cube root of unity and
f(x).= x3P + x39t1 + X342 then what is
fle) equal 10 ?

(a) o .

(b) - w?

(¢) —o

(dy 0

What is the maximum value of

3cosx +4sinx+57?
{a) 5
(b) 7
{¢) 10
dy 12

If sin 8 = cos? 0.

cos? 0(1 + cos? ) equal to.?
(a) 1
(b) 0

(¢) cos? @

{d) 2sin0

(Contd:)

then what is




. _ " ’ 2 : ~
73 AR sinb=xr T @ x e R-{0} F 76w [k +@a-diox+ dpaxsi2, @
|

74,

75.-

.%?

{c) as

(a)

Rro, @ Freafafaes & a1 @ @@

(a) az4

(by az

HF T tan* x  2secix +al- ) & FH

¥ Fu @ AaRF & B Ol

{a) {a| <4
(b) |a]<2

© lal< 3

(d) 9w & & *r T

ﬁ$immaﬁ§miihcmmﬁaﬁ
4 % T ‘2’ AgAH o= B, @ cos A
fra® wwme & 7

3c—4b
2¢

3c—-4b
. 2b

(b)

4c-3b
2c

()

3b-4c
_2c

(d)

77.

78.

79,

Prefifer ¥ ®a-w o &R 2 2

@ k=3
(by 0<k<3
© ks4
d k=0

o p. g, r tATEE yiE ¥ A @ v
FOTHA T IR f(x) = 3P+ kI 4 32
A flo) red aoar ¢ ?
(a) o

(b) - w?

() —o

(d) 0

jcos’x+4-sinx+53|?.l3®'ﬂ!ﬁ'ﬂqﬁw
27 '
(a) 3

) 7

© .10
@ 12

afe sinii)=c-:)s2 0, Eﬁ cos? B(i + cos? @)
fred auex 2 7 _ ’

@ 1
(b} O
(c) cos® O

(d).2 sin 6

. (Contd.)




. 80. What is the equation of the plane passing

81.

82.

83.

through the point (1, -1, —1) and

perpendicular to each of the planes
x-2y—8=0and 2x + S5y —z=07

(a) Tx—3y+2z=14
(b) 2x + 5y -3z = 12
(¢} x="T7y+3z=4
(d) 14x -Sy+3z=16

What is the value of tan 15° - tan 195°?

(@) 7-443
(b) 7+443
() 7+23

(d) 7+643

If the rate of charige in volume of spherical
soap bubble is uniform, then the rate of

change of surface area varies as

{a) $quare of radius

(b} square root of radius

(c) ‘inversely proportional to radius

(d) cube of the radius

) . sin X 1+ cosx .
What is T +— equal to ?
T+cosx $in X
(a) 2 tan x

(b) 2 cosec x
{(c) 2 gos X

(d) 2simx

84.

85.

86.

Some measures of central tendency for n

discrete observations are given below :
I. Arithmetic mean
2. Geomketric mean
3. Harmonic mean
4

Median

A desirable property of a2 measure of central
tendency is if every observation is
multiplied by ¢, then the measure of central
tendency is also multiplied by ¢, where
¢ > 0. Which of the above measures satisfy
the property ?

(a) 1,2 and 3 only

(by 1, 2 and 4 only

(c) 3 and 4 only

(@ 1,2, 3and 4

If f(x) = x In x, then f(x) attains minimum
value at which one of the following

points 7

(a) x =¢e2
{b)y x=¢e
(c) x= e}
(d) x = 2!

A variate X takes values 2, 3, 4, 2. 5, 4,
3, 2, 1. What is the mode ?

(a) 2

(b) 3

" {c) 4

d 5

(Contd.)




80. 39 TN B AW ;W & W g 84, n T N A FFW W A 9
_(l,ﬂl,«l')@.’W%SﬂTx—Zy-SZﬂO
W@ 2x + 5y —2z=0 wEd 7 ¥ T _
T oum 2 ? .

81.

82.

83.

(a) 7x -3y +2z=14
(b) 2x + 5y -3z=12
{(c) x—'7y+3z=4 o
(d) 14x — Sy +3z=16

tan 15° - tan 195° & 99 F1 8 ‘?
(@) 7-43
(b) 7+443

_(C) 7+243
(@ 7+63

uﬁ'lﬁﬁm'{ﬂ@?%wal‘»wﬁﬁ
a3 GEEE ?, @ TS & A
TRadd & 3@ aw woerdl 8 99

(@) Proar & af
(b')ﬁ?m?ﬂmfvm

(c) Brear & =gopmrowi
(@) Pr=m #1 u+q

sinx - 1+cosx
+

fFud guac 2 ?

1+cosx sin X
(a) 2 tan x

(b} 2 cosec x

(c]‘ 2 cos x

(@) 2 sin x.

85.

86.

(b) x

oAy d o
1. HHGT "1
2. TUIRK WS
3. BUCHS HIX
4. wifEmaET

. ¥ ygfn & wE Fiedm T @ & R

TAF JEw H oc q Pen B -owd @
BT IGRT AW W ¢ ¥ T & e
2 W c>0| IWF H ¥ HA-NT @
Y F@ W B OEEE A B 7

(a) Fad 1,2 3R 3

(by Fa 1,2 R 4

(c) ¥aa 3 MY 4

(d) 1,2, 3 3T 4

tﬂ’%1‘Ix)=xl_nx,.iﬁ1?11——!1%‘-!1‘1?43_ ¥
T fag Ut f(x) aYEH WA YT FIA

g7

(a) x=¢

I
o

Il
o

(¢} x
(@) x =2¢’!

By X, "M 2,3,4,2, 5, 4,3,2, 1 8@
&), agoe w2 P

@ 2

®) 3

(c) 4

@ 5




87.

88.

89.

1+ 2i

If z= i 12::; , then what is the value
of 22 +27 2 (i=\/—_1)

(a) ¢

(b) -1

(¢) 1

(d) 8

What is the argument of

(T —sin @) +icos 8 ? (i=+-1)

o 0
@ 573
n 6
(b) 5+5
n 0

© 373
n ©

@ 33

What is the area bounded .by the
curve -&+J§=J§(x,y20} and the

coordinate axes ?

(a)
(b)
(c)

(d)

90.

91.

92.

Consider the following statements in
respect of the square matrices A and B of

same order :

1. AandB are non-zero and AB=0>
either |A|=0o0r |B|=0

2. AB=0:>_A=00rB=O

Which of the above statements is/are
correct ?

(a)
(b) 2 only

1 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

For what value of k, are the lines
X+2y —-9=0andkx +4y + 5 =0
parallel ?

(a) 2
(b) -1

(c) 1

@ o

What are the points on the curve
x% + y2 - 2x — 3 = 0 where the tangents
are parallel to x-axis ?

(a) (1,2) and (1, -2)
(b (0, V3) and (0, —3)
(c) (3.0) and (-3, 0)

(d) (2, 1) and (2, -1)

(Contd.)




87.

88.

89.

~(©)

R Z=12+—2il_12+_2li’ W zt+zz W
o= w2 ? (i=v-1)

@ 0

by -1

{c) 1

) 8

(1 —sinB) +icos 6 1 FTFH T & 7
(i=-1).
6

@ 373

" 90. WM P B I FegE A IR B F AR

T Jx +fy =va (x,y>0) @ Frdaiw

Fe g wRag SFwa Fr g ?

5a2
® 76

a2

3

(b)

2
2
a’

@

27,

91,

92.

A Preaffes saf w Baw sk

. A @B & R AB=0=
WA |A[=09 |B[=0

2 AB=0=A=0TB=0
woF Fwedl A FA-A/F wE RA 7
(a) a&:ﬁll‘ |

(b) Fa 2.

(c) 13T 2 <

(d 7@ 1 7 8 2

k3 Ra w3 B Xad x+2y-9=0
T kx + 4y + 5=0 FAFATE 7

@ 2
(b) -1
© 1

(dy 0

Ty 2x-3=0 T AT A Reg
g A W Wﬁ"?ﬂi’f X-¥A B GATGL

g7

(@) (1,2) I (1,-2)

(®) (0, ¥3) I (0, -V3) o
(¢) (3,0) 3 (-3,0)
d) 2, 1) a2, -1)

(Contd)) ‘




93. If sin 3A = 1, then how many distinct
values can sin A assume ?
(a) 1
(b) 2
(c) 3 .

(d) 4 L

94.. What is the radius of the circle touching

x-axis at (3, 0) and y-axis at (0, 3) ?
(a) 3 units
(b) 4 units
(c) 5 units

(d) 6 units

95. Foralln € N, 29" — 15n — 1 is divisible

by
(a) 125
(b) 225
(c) 450
. (-d) None of the above

96. If the of the
x% — 4x — logy N = 0 are real, then what

roots cquation

is the minimum value of N ? °
(a)
(b)
(c)
(d})

1/256
1/27
1/64
1/81.

97.

- 98.

99.

‘The equation to sphere passing through

origin and the points (-1, 0, 0), (0, -2, 0) -
and (0,0,—3)isx2+y2+zz+f(x,y,z)=0. ’

" What is f(x, y, z) equal to ?

(a) —x -2y -3z
(b x +2y + 3z
() x+2y+3z-1

(d) x+2y +3z+1

What is the area of the triangle
with vertices (1, 2, 3), (2, 5, -1) and
-1,1,2)?

. W15 .

(a) 5 square units

(b) % square units

V155 .

() = square units

(d) % square units

For what wvalue of x does
1 3 ¢ 0

(1 3 2)13 0 2||31|=(0)hold?
2 01 X

(a) -1

M) 1

(c) 9/8

(d) -9/8

(Contd.)




T aFa & 7

{a) 1

(b 2
© 3

(d) 4

94.

9s.

96.

X8 F (3, 0) T AT y-5&@ F (0, 3)

w we 1 @ ga A Bewm e g 2
() BIW@T‘ ‘
(b) 4WT

(c) S T

(d) 6 ThrETi

T neN & @ 2 _15n-1 B&m

q g &7

(@) 125

(b) 225

(c) 450

(d) Svfm ® & ®1¢ TE

aft el x2 - 4x —log, N=0 # 7w
FealRs & W N & agad qT ¥
-

()
(b)
©
@

1/256
1/27

1/64
1/81 .

. ﬁﬁ sin 3A =1, 1 sin A Fas Fea-Bre

29

97

98.

. (b)

99.

(©)

qﬁﬁgamﬁrgaﬁ (-1, 0, 0), (0, -2, 0)
m((}o—naw@m—am
‘H’ﬁ?ﬁ'ﬂx2+y +22+f(x,y,z)}=0 2|
f(x, y, z) foes auax 8 7 -

(a) —x—-2y—-3z

(b) x + 2y + 3z

(¢) x+2y+3z-1
(d)y x+2y+3z+1

(1,2, 3), (2, 5, 1) @R (-1; 1, 2) eif -

a Bryw & fewd wm @ ?

J155
2

\/F

—

i THTEdl

(a)

(c) g1 3Tel

(d) _ﬁﬁ T T

x ¥ g W 3 R

1.3 0)(0O
(1 3 2)|3 0 2|]3][|=(0) &
2 0 1 X E

g2 2
(a)
(b 1
9/8

(d)y -9/8

{Contd.)



100.If one of the roots of the equation . 103.If the roots of the equation

101.

102.

alb —c)x?+blc-—ax +ca-by=0

is 1, what is the second root ?

_ble-a).
a(b=¢)

(a)

b{c-a)
a(b-¢)

(b)

cla—b)
a(b-c¢)

(¢)

_c(a-b)

(d) a(b—c).

What are the roots of the equation
Ay + 22 -5y +2y=127?.

(a) — 7/2, 2
() - 3/2, 4
(c) —5/3,3

(d) 3/2,4

What is th'e value of log, (log, 81) ?
(a) 2
(b) 3
{c) 4

{d) 9

104.

105.

3x% — 5x + q = 0 are equal, then what is
the value of q ?

(a) 2
(b) 5/12

(¢) 12725

(d) 25/12

If @ is a null set, then which one of the

following is correct ?

(@) ®=0
(b) ®={0}

€ @={0}

d eo={ }

What is the equation of a line parallel to
x-axis at a distance-of 5 units below
x-axis 7

(a) x=5

(b) x=-5

() y=5

d y=-5

(Contd.)




100.4R it
ab-—c)x2+blc—ax+cla-b)=0

O ¥ A g@ 1.2, @ @
8 7

_blc-a)
(a) a(b—-c)

b(c—a)
(b) a(b-c)

cla—-b)
) a(b—¢)

_¢c(a-b)
CF a(b—c)

101, 8T 2(y +2)2 — S(y +2) =12 % @
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(b) 3

- {c) 4

- (d). 9
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(a) 2

(b) 5/12
©) 12025
(d) 25/12
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¥ T @ uw oudl g7

@ ®=0

| )@= 10)
(c) ¢’=‘{‘~’D‘}
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(a) x=-5 '
) x=-5
{¢) y=5

(d y=-5
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NOTE

: STUDY -THE FOLLOWING

TABLE AND ANSWER THE NEXT 08
(EIGHT) QUESTIONS THAT FOLLOW :

Year

Male Female

Total
Rural Rural | Total

1995

350 3o 1350

1996

450

1997

130 190

1998

280

Total |

850

106.

What is the total population for the year
1997 ? '

(a) 810
(b) 830
(c) 970
(d) 1030

. What is the female urban pofnulation in
the year 1995 ?

(a) 390
(b) 410
(c) 430

(d) 470

. What is the urban population in the year
© 1997 7

(a) 400
(b) 460
(c) 490
(d) 510

109. What is the total population in the year

1998 ?
(a) 1000
(b) 1020
(c) 1040
@ 1050

. What is the difference between the number

of females and the number of males in.
the year 1995 ?

(a) 90
(b) 100
(c) 110
(d) 120

. In which year is the male population

minimum ?
(@) 1995
(b) 1996
(c) 1997
(d) 1998

.In which year is the female population

maximum ?
(a) 1995
(b) 1996
(c) 1997
(d) 1998

. What is the percentage of rural male

population (over the whole population)
in the year 1998 ?

(a) %9%

100
3

315%
40%

%




froofy . Y & 7 wroh W wwE AR
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R . '

106. 98 1997 # o H@ wTEwm 27
(a) 810
® 830
(c) 970

(d) 1030

107.76F 1995 & &t wgd TR T 7
(a) 390 |
(b) 410
(c) 430

(d) 470

108.af 1997 ¥ wwd wrEEn T=FIIT.§ ?
(a) 400 .
(b) 460
(c) 490

(d) 510

aof g5 Ll _ -
EG ) T g | v | wdm | w3 T

1995 | 280 | 350 - 310. 1350 |

1996 | 370 670 | 180 450 '

1997 130 | 440 190 '

1998 | 400 | 280 290

7= ~ T toe0 | 850

- 109.7 1998 § W wEEwm w7 R 7

(a) 1000
by 1020
©) 1040
(d) 1050

to.ad 1995 ¥ fordl @ wen WX qEN €@

gen & &g g F| o8 ?
(a) 90

"(b) 100

(¢) 110-

(d) 120

1. &g af & qow a9den =prad 8 ?

(@) 1995
() 1996
() 1997
(d) 1998

112,79 ao ¥ &ff wgen aftean & 7
- (a) 1995

(b) 1996

(c) 1997

(d) 1998

113. 3% 1998 ¥ (@W@TW)WW'
SHE - F qReaa O 7 '

(a) ?% |

100%
3

)

() 35%
d) 40%
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NOTE : STUDY THE PIE CHART GIVEN
BELOW AND ANSWER THE NEXT 04
(FOUR) QUESTIONS THAT FOLLOW :

The following pie chart gives the distribution

of funds in a five year plan under the major

heads of development cxpenditures-:
Agriculture (A), Industry (B), Education (C),
Employment (D} and Miscellaneous (E).

The total allocation is 36,000 (in crores of

rupees).’

114,

115.

Which head is allocated maximum
funds ?

(a) Agriculture
(b} Industry
(¢) Employment

(d) Miscellaneous

How much money (in crores) is allocated
to Education ?

(a) 3000
(b) 6000
) 9000
(d) 10800

116. How much money (in crores) is allocated

te both Agriculture and Employment ?

117.

118.

119.

120.

(2) 20000
(b) 21000
(c) 24000
(d) 27000

How much excess money (in crores) is

over

allocated to Miscellan_eous

Education ?

(a) 3600

(b) 4200

(¢) 4500

(d) 4800

What is the geometric mean of 10, 40
and 60 ?

(a) 10

by 20

(c) 40

(dy 70 .

What is the median of the distribution
3,7,6,9,5.4,27

(a) 5

(b) 6

{c) 7

(d) 8

If the arithmetic and geometric means of

two numbers are 10, 8 respectively, then

one number exceeds the other nurqbcr by
(a) 8

(b) 10

(c) 12

(d)y 16

(Contd.)
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(b) 6000
(c) 9000
(d) 10800
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116.

117.

118.

119,

FR @ AR JF R B g
(7o ) Proa @ E 2 7

(a) 20000

(b) 21000

(c) 24000

(d) 27000

fren ¥ o s gl o

(a) 3600
(b) 4200
(c) 4500
(d) 4800

A
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(d 8
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

T.B.C. : P-AQNB-L-TNGA TEST BOOKLET SERIES

Serial

TEST BOOKLET
GENERAL ABILITY TEST

Time Allowed : Two Hours and Thirty Minutes o Maximum Marks : 600
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK

' THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING
PAGES OR ITEMS, ETC. IF SO, GET IT REFPLACED BY A COMPLETE TEST BOOKLET.

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE IN THE
APPROPRIATE PLACE IN THE ANSWER.SHEET.

3.  You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4.  This Test Booklet contains 150 items (questions) in two Parts : PART A and PART B. Each item in
PART B is printed both in Hindi and English. Each item comprises four responses {(answers). You
will select the response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any case, choose
ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See. dlrectlons in
the Answer Sheet.

6.  All items carry equal marks.

7.  Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you
have to fill in.some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheef, You are permitted to take
away with you the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers !

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS. '

()  There are four alternatives for the answer to every question. For each guestion for which a wrong
answer has been given by the candidate, one-third (0-33) of the marks assigned to that question
will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that question.

(iii} If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question,

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
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PART A

SPOTTING ERRORS

Directions (For the 15 items which follow) :

(1)

(ii)

(iii)

In this section, a number of sentences are given. The sentences are underlined in three
separate parts and each one is labelled (a), {b) and (c). Read each scnience to find out
whether there is an error in any underlined part. No sentence has more than one error.
When you find an error in any one of the underlined parts (a), (b) or (c), indicate your
response on the separate Answer Sheel at the appropriate space. You may feel that there is

no error in a sentence. In that case, letter (d) will signify a ‘No error’ response.

You are to indicate only one response for each item in your Answer Sheet. (If you indicate
more than oné response, your answer will be considered wrong.) Errors may be in grammar,
word usage or idioms. There may be a word missing or there may be a word which should be

removed.

You are not required to correct the error. You are required only to indicate your response on
the Answer Sheet.

Txamples ‘P’ and ‘Q have been solved for you.

P. The young child singed a very sweet song. No error.
{a) (b) (c} (d)
Q. We worked very hard throughout the season. No error.
(a) "~ (b} {c) (d)
Kxplanation :

In item P, the word ‘singed’ is wrong. The letter under this part is (b), so (b} is the correct
answer. Similarly, for item Q, (d) is the correct answer, as the senlence does not contain any
error.

P-AQNB-L-TNGA {2 -A)




1. It was really smart of him to have chosen the right course, is n't it ? No error.

(a) (b) . (e) (d)
2. The doctor advised me that 1 am goidg on a salt free diet. No error.
(a) (b) {e) (d)
3. It can’t be true that he has never done éomething wrong in his entire career. No error.
(a) (b) ) (c) (d)
4. He told that his brother was singer. No error.
{a) (b) (c) (d)
5. .  When we reached at the station 1 fought my way through pedp]e and luggage
| (a) . (b) :
and secured a place next to the window. No error.
' o @ - (d)
6. The managing director along with his staff members were present for
(a) (b)
the annual general body meéting. No error.
. (e - (d)
7. If you will follow my instructions, you will deﬁnitely score Bigh marks
. (a)- (b)
in the entrance examination: No error.
(c) (d)
8. In mariy respects; India is different than western countries. No error.
(a) (b) (c) (d)
9. The members of the family soon became aware what had taken place. No error.
- (a) (b) (e} ()
10. T have met him on Monday last and had a long discussion. No error.
(a) (b) (c) (d)
11., Itis time we decide not to play cricket, for the next two years, No error,
{a) : (b) ‘ : {c) (d)
12. He likes the sceneries of the hills. No error.
(a) (b (c) (d)
13. 1 did not know that you have left your handbag in our office
(a) : (b)
when you came to see me last Friday. No error.
(c) (d) .
14. He wanted me to bring two breads and some butter for breakfast. No error.
(a) . (b} , (e} (d)
15. The parents are happy to know that a number of summer progx;-ammes have been arranged
(a) (b)
for the benefit of their children. No error. ‘ '
() (d)
P-AQNB-L-TNGA - {3 -A)



Directions (For the 10 items which follow) : . The newspaper reports were MENDACIOUS.

Each of the following items consists of a (a} mischievous
sentence followed by four words or group of L
words. Select the synonym of the word (b  truthful
(occurring in the sentence in capital letters) as (c)

rovocative
per the context. . P
(d)} false

The vehicle slowed down as they moved up
the GRADIENT. '

(a) road with sharp bends The priest pronounced BENEDICTION.

(b} bumpy, uneven path (a) good wishes
{c) slope or incline (b) blessings
(d) mountainous area :

{¢) punishment

It is DEPLORABLE that millions of people in
India are below the poverty line.

(a) hateful

(b} regrettable . Her habits are INNQCUQUS.
(¢} undesirable (a)

(d) appreciation

_useful
(d) unpleasant
(b} injurious

The government should PROSCRIBE that (c)

causing no harm
sort of literature.

(a) rusticate (d) bad

(b) excommunicate

(¢} ban . I INVEIGHED her for her different outlook.

(d) outla\;v {a)  criticized

‘ (b) rebuked
The volcano cn the island i1s DORMANT.

(a) cold {¢) disliked

(b} inactive (d) appreciated
(¢) dangerous

(d) old

The youth was BEFOGGED when he was

A person who EQUIVOCATES should not be interrogated loudly by the police inspector.

relied upon. () terrified

(a) deceives others

(b) panick
(b)  tells lies pamesy

{c) gives misleading statements () surprised

(d} flatters (d) puzzled

P-AQNB-L-TNGA




Directions (For the 10 items which follow) :

Each of the f{ollowing items . consists of a
sentence followed by four words or group of
words. Select the anfonym of the word
(occurring in the sentence in capital letters) as
per the context. '

26. A few heavenly talents DARKEN the world in
each generation‘._
(a) brighten
(b) please
(¢) enlighten
(d) glamorize
27. AnICY receptibn greeted the arrivals.
(a) hostilp;
(b) warm
{¢) -pleasing -
(d) strange
28. | The young athlete is ENERGETIC enough to
run ter thousand meters at a stretch. '
{a} inactive
® dull -
(c) gloomy
(d} lethargic
29. He bas a SECURE position in the entrance
examination.
(a) _ rigid
(b) precarious
(e} static
(d) secondary

P-AQNB-L-TNGA

30.

31.

32,

33.

34.

3a.

(5 -A)

L (a)

- The accused was ACQUITTED of the charge.
(a) held guilty '
. (B) betrayed
(c) involved
(d) offended
It is COMPULSORY that all members of the
board be present at the meeting.
optional
(b} contrary
(c} obligatory
(d) conditional
Events ultimately led to LUGUBRIOUS
ending. :
(a} happy
(b) hopeful
() helpful
(d) reassuring
He ACCELERATED the speed of his car.
(a) retarded ' s |
(b) reviewed |
{c) recorded
(d) restored
The criminal was. known {o the police by
VARIOUS names.
(a} separate \
(b) distinct '
(¢) identical
(d) similar
The police praised the METICULOUS

arrangements made by the organizers to
receive the guest at the airport.

(a) haphazard
{b) random

(¢) ridiculous
(d) shabby



REARRANGING PARTS OF A SENTENCE

Directions (For the 8 items which follow) :

In the following items, some parts of the sentence have been jumbled up. You are required to
. rearrange these parts which are labelled P, Q, R and S to produce the correct sentence. Choose the
proper sequence and mark in your Answer Sheel accordingly.

irys

Example ‘Z’ has been solved for you.

Z. Some people believe that  the effect is very bad on children of cinema

P Q R S
The correct sequence should be
{a) PSRQ (by SPQR
(¢} SRPQ (d) QSRP

-
Explanation :

The proper way of writing the sentence is “Some people believe that the effect of cinema on children
is very bad”. This is indicated by the secquence PSRQ and so (a) is the correct answer.

36. they marched for a while under a tree often they had rested on to their journey

P Q R ' )
The correct sequence should be
(a) SRQP (b) PSRQ
(c) QRPS (d) RQPS

37. as the President entered the hall from his seat to greet him everyone gol up

P (&) R S
The correct sequence should be ) l
{a) RQPS (by QPRS
(¢} PSQR - (d) SQRP

38. he took shelter near the lake when there was a heavy downpour

P Q _ R
under the large mango tree '
S
The correct sequence should be
(a) PRQS (b) PSRQ
(¢y REPQ (d) RPSQ

P-AQNB-L-TNGA (6 - A)




39,

40.

41,

42,

43.

QOur educationalists are to teach children too often anxious without any utility

_ , P Q R
80 many languages
S
ThP: correct sequence should be _
{a} PQRS : {b) QRSP
() SRQP (d) QPSR

the rain did not prevent from being played to a finish the malch
- P Q R S

. The correct sequence should be

(a) - PQRS (b) PSQR
() PSRQ j (@) SQPR

It has been like inheriling some money and afierwards marrying for love through the wife
‘ P B A R S

The correct seduence should be
(a) RQPS (b)) PSQR
(¢} BPQR _ {d) PQSR

His mother when he was hungry last evening could not feed the baby
P Q R S

The correct sequence should be

(a) RSPQ _ (b) PQRS

(© SPQR _ (d) QPRS

Whenever he heard the question the old man answered who lived in that house

P Q R
that the Earth is ﬂat_
8
The correct sequence should be
(a) PQRS ~ (b) PQSR
() PRQS | (d) SPQR

P-AQNB-L-TNGA {7 - A}




COMPREHENSION

Directions (For the 07 items which follow) : ‘
In this section, you have fwo short passages. After each passage, you will find several questions based on

the passage. First, read a passage and then answcr the questions based on it. You are required to select
your answers based on the contents of the passage and opinion of the author only.

Examples ‘T’ and ‘J” have been solved for you.
PASSAGE (EXAMPLF)

In our approach to life, be it pragmatic or otherwise, a basic fact that confronts us squarely and
unmistakably is the desire for peace, security and happiness. Different forms of life at different levels of
existence make up the teeming denizens of this earth of ours. And, no matter whether they belong to the
higher groups such as human beings or to the lower groups such as animals, all beings primarily seek
peace, comfort and security. Life is as dear to a mute creature as it is to a man. Even the lowliest insect
strives for protection against dangers that threaten its life. Just as each one of us wants to live and not to
die, so do all other creatures.

I.  The author’s main point is that
(a) different forms of life are found on the earth
(b} different levels of existence are possible in nature
(¢c) peace and security are the chief goals of all living Beings

(d) even the weakest creature struggles to preserve its life

J.  Which one of the following assumptions or steps is essential in developing the author’s
position ?

{a) All forms of life have a single overriding goal

(b) The will to survive of a creature is identified with a desire for peace
(c)  All beings are divided into higher and lower groups

(d) A parallel is drawn between happiness and life, and pain and death

Explanation :

I. - The idea which represents the author’s main point is “pcace and security are the chief goals
of all living beings”, which is response (¢). So (¢} is the correct answer.

J.  The best assumption underlying the passage is “The will to survive of a creature is identified
with a desire for peace”, which is response (b). So (1) is the correct answer.

P-AQNB-L-TNGA {8 ~ A}




44,

45.

46,

47.

P-AQNB-L-TNGA

Passage 1

Elephants spray water over their ears
to stay cool. The rhythm of an elephant’s day
is set largely by its watering routine. An adult
needs about thirty gallons of water a day.
When water is abundant there is no problem.
But during &roughts, elephants resort to an
intriguing technique : digging wells, In a
dried-up river bed they scoop out holes with
their forefeet until they reach water. After
waiting patiently for the sand to settle, they

drink in order of seniority, calves last.

According to the passage,-water is
(a) quite important for the elephant
(b} vital for the elephant’s survival

(e) occasionally useful for the elephant

(d) often a problem for the elephant

According to the passage, elephants spray
water over themselves

{(a) to have fun

{b) to ward off the heat .
{¢} to cool their heels

(d) to quench their thirst

During droughts, elephants
{a) burrow in the sand to avoid heat
{b) {ind water in rivers

{c) dig holes in the river bed to reach the
+ water -

(d)y find ﬁew water holes

When the elephants find water

(a} the baby elephants drink first
(b} the oldest adult drinks first

(c) the largest elephant drinks first

(d} the youngest adult drinks first

48.

49.

50.

{9 -A)

Passage 11
One day my brother brought home a

new song-bird. It was the smallest of them all, .

a tiny creature of a blue and a red that
sparkled when brushed by the sun. But there
was a problem : while the others sang, this
new bird remained silent. My brother tried
coaxing music out of him, in vain. He tried
attacking with a stick, but the bird was
unmoved. My brother first tried withholding
food, but later when the incentive was offered
the bird ignored it, and twice he knocked over
his dish, scattering the seed.

One day the writer’s brother brought home a
bird

(a) which never ate food
(b} which flew so high it seemed to touch
the sun

(c) whose colours shone brightly in the
sunlight

(d)  which was the largest of all the birds in
his collection

At first his brother tried to get the bird to sing
by

{a)
(b)

tempting ‘with food

placing it in the company of the other
birds while they sang

(c) singing to the bird himself
(d) withholding food

What does the word “coaxing” mean ?
(a)

(b} to use violent means

to behave rudely

{¢) to gently persuade.

(d) to beg repeatedly




PART B

Directions : The following six (06) items consist of
two statements, Statement I and Statement I1. You
are to examine these two stalements carefully and
select the answers to these items using the code given

belour :

Code :

(a) Both the statements are individually true
and Statement II is the correct
explanation of Statement I.

(b) Both the statements-are individually true
but Statement II is' nefé the correct
explanation of Statement L

(c) Statement I is true but Statement II is
false. '

{d} Statement I is false but Statement 1T is
true.

51. Statement I : Mahatma Gandhi launched the

53.

P-AQNB-L-TNGA

Rowlatl Satyagraha as an
all-India mass protest.’

Statement II : Rowlatt Act was passed by the

British Government in 1919 to
authorize the governmeni {o
imprison any person without
trial, '

Statementl: A  public  expression  of

dissatisfaction with democracy
indicates the success of the
democratic - project : it
transforms people from the
status of a subject inlo that of a
citizen.

Statement II ;: The fact that people are

complaining is itself an
affirmation of the success of
democracy : it shows that people
have developed awareness and
the ability to look critically at
the government.

Statement I : The private trade of the East

Indla Company’s officials in the
18" century had flowered with
the indirect patronage of the
authorities of the Company.

Statement IT ; The extra-legal power enjoyed

by the foreign merchants and
the duty-free nature of their
private trade virtually edged
the indigenous merchants out of
competition,

54.

55.

56.

57.

58.
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Statement I . Water (H,0) is more polar than .
Hydrogen Sulphide (H,S3).

Statement II : Oxygen is more electronegative
than Sulphur.

Statement I :  Metal ions are Lewis acids.

Statement II : Metal jons are electron pair
' acceptors.

Statement I: Diamond is very hard and has
high melting point.

Staterment II : In diamond, each carbon is
covalently bonded to four other
carbon atoms to form a
three-dimensional network.

Consider the following statements about the
visit of Indian President Smt. Pratlbha Patil
to Mongolia in July 2011 :

1. She became the firsi Indian President
to make an official visit to the country.

2. In the area of defence, India and
Mongolia agreed to expand collaboration
through increased level of joint exercises
and training.

Which of the statements given above is/are
correct ?

(a) 1 only

(b} 2 only

(¢} Both 1 and 2
(d) Neither 1 nor 2

Who, among the following, is the latest Indian
to win the Pulitzer Prize for literature ?

(a) Jhumpa Lahiri

(b) Geeta Anand

{c) Gobind Behari Lal

(d) Siddhartha Mukherjee
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Indian Army’s counter-insurgency school is |63. Match List I with List II and select the
situated in :

. correct answer using the code given below
(a) Kaaker 7 the lists : '
(b) Srinagar E

(©) Tezpur List 1 List 1}
X Desert

(d) Vairengte (Desert) (Country)

. sy s : _ _ . Kalahari . Angola

Match List [ with List II and select the correct

answer using the code given below the lists : B. Namib. . Sudan

List I List II s :
Nubian . Botswana

(Name of the Shipyard) (Location)

A. Hindustan 1. Kolkata Atacama : - Chile
Shipyard Limited ode :

B. Garden Reach 2, Vasco-da-Gama B C D
Sh]p‘bullders. &. (a) 9 1 3
Engineers Limited

C. Goa Shipyard 3. Mumbai (B 2 1 4
Limited {c) 1 2 3

D. Mazagon Dock, 4. Visakhapatnam (dy 3- 1 2 4
Limited

Code :

64. Which one amgng the following statements

A B C D relating to an anticyclone is correct ?
(a) 4 2 1 3 {a) Aniicyclone is a wind system with a
(b) 3 1 2 4 high pressure centre
ey 4 1 2 3 ) } .
@ 3 9 1 4 {b} In anticyclone the movement of wind is

inward
61. Sirocco is a name used to mean

i (¢} The contribution of an anticyclone
(a) a local wind

towards determining weather of an area
(b) a volcano i1s quite significant

(¢) an island (d) The movement of wind is clockwise in

(d)  an ocean current an anticyclone of southern hemisphere

62. Which of the following is/are the chief
characteristics of commercial grain farming of

the middle latitude grasslands ? 65. Tipu Sultan’s major interest in building ships

1.  The size of farms are generally large. was to

2.  Cultivation is highly mechanized. {a) fight the English at sea
3. 1tis a type of extensive farming. (b) promote trade and commerce
Select the correct answer using the code given (¢} maintain diplomatic relations with
below - , Muscat (Cman)
(@) 1 and 2 only (d) establish an overseas settlement at port
(b) 2 only Basra (Irag), which would be under his
(¢) 1,2and3 . control, on lines of the FEuropean
(,d) 1 and 3 only companies

P-AQNB-L-TNGA | {12 - A)
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Which, é-md‘ng the following, is/are the

impact/impacts of industrial revolution in

England ?

1. -Cottage industry was replaced hy the
factory system of production using
machines.

2. It led to the overpopulation of villages.

3. It led to the emergence of working class
MOvVerments.

- Select the correct answer using the code given

below :

fa) 1,2 and 3

(b) 1 and 3 only

(¢) 1 only -

(d) 2 and 3 only

The international body which was formed in

Burope (in 1889) to coordinate the offorts of
socialists all over Europe was called

{a) Social Democratic Party

(b) Commune

(¢) Second International

(d) Labour Party

Which of the following statements with regard
to the Federal System is/are correct ?

1. In a federation, two sets of governments
co-exist and there is distribution of
power,

2. There is a written constitution,

Select the correct answer using the code given
below :

(a) 1 only

(b) 2 only

(¢ Both 1 and 2
(d} Neither 1 nor 2

The common edible mushroom is a
{a) mass of fungal spores

(b) type of hypha

(c) tightly packed mycelium

(d) structure used for producing asexual
spores

70,

71.

72,

73.
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A biogeographic . region with significant
reservoir of biodiversity that is under threat
from humans is called as

(2} bicendangered region

(b)  biodiversity hotspot

{c)  biodiversity reservoir

(d) environmentally endangered region

The main function of the inner bark of a
woody plant is Lo

{(a} transport minerals and water from the
roots o the leaves

(b act as a membrane
water and gas

impermeable to

(¢) transport food from the leaves to the
other parts of the plant

the

(d) protect plant from herbivorous

animals

Birds like Flamingos can stand on one leg.
Which among the following statements
relating to this is/are correct ?

1. By standing on one leg Flamingos can
conserve body heat and energy because
they can reduce great deal of surface
area for the loss of heat.

2. By standing on cne leg, one Flamingo
makes a courtship display, which is a
part of ritual prior to reproduction.

Select the correct answer using the code given
below :

(2) 1 only

(b) 2 only

(¢} Both 1l and 2
(d) Neither 1 nor 2

Which one among the following is the largest
monkey ?

(a) Spider monkey
(b) Baboon
(c) Gorilla
(d) Howler monkey
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Two copper wires A and B of length { and
20 respectively,  the same area of
cross-section. The ratio of the resistivity of
wir_e A to the resistivity of ‘wire B is

have

(a) 4
(b) 2
{c) 1
d) 1/2

The position — time (x—t) graph for motion
of a body is given below :

0 t

Which one among the following is depicted
by the above graph ?

(a)

Positive acceleration

(b) Negative acceleration

(¢) Zero acceleration

-

(d) None of the above

Which one among the following waves are
called waves of heat energy ?

Radio waves

(a)
(b) Infrared waves
{¢) Ultraviolet waves

Microwaves

(d)

7.
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(d)

The phenomenon of ‘trade winds’ takes
place due to '

(a) conduction of heat

(b) convection of heat
(c) radiation

(d)

None of the above_,

Ultrasonic waves are those sound waves
having frequency

(a) between 20 hertz and 1000 hertz

(b)  between 1000 hertz and 20000 heriz

(c) 'more than 20 kilohertz

less than 20 hertz

Bases turn red litmus blue and acids turn
blue litmus red. A student tested a liquid
with a red litmus paper and it stayed red
with no change. This shows that the liquid

»

(a)

must be pure water .

(b)

must be an acid
(¢} is not a base

(d}

1s neither a base nor an acid

The main constituer;t of vinegar is
(a)‘ Citric acid
(b}  Acetic acid

{c)  Ascorbic acid

(d)

Tartaric acid
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The major component used in preparation of
different types of glagses is

{a) Silica
(b) Sodium borate
{¢) Calcium silicate

(d) Sodium silicate

All the elements in a group (family) have a

common valency. For example, all the

elements of the carbon family (carbon,
silicon, germanium, tin and lead) have
common valency four. However, some of

these elements can also have valency two.
Which of the following can have valency
two 7

(a) Silicon, germanium and tin

(b) Only germanium and tin

(¢} Germanium, tin and lead

(d) Only tin and lead

Match List I with List II and select the
correct answer using the code given below
the hsts :

List 1 List 11
(Metallic oxide) (Colour imparted

: to glass)
A, Uranium oxide 1. Red
B. Cuprous oxide 2, Blue
C. Cobalt oxide 3. Green
D. Chromium oxide 4. Yellow
Code :

A B C D
(a) 4 1 2 3
(b} 3 2 1 4
{¢) 4 2 1 3
(d) " 3 1 2 4

84,
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The
real

image formed by a convex mirror of a
object is larger than the object

(a) when u < 2f

(b) when u > 2f

(e} for all values of u
(d) for no value of u

(u = object distance, [ = focal length)

Protons and ncutrons are bound in a nucleus
by the :

(a) short range ‘weak interaction’
(b) short range ‘strong interaction’
(e} long range ‘electromagnetic interaction’

(d) long range ‘gravitational interaction’

Refractive index of an optical medium changes
with

1.  the nature of the medium.

2. the change in the angle of incidence of
the ray. '

3. colour of the incident ray.

Select the correct answer using the code

. given below :

(a) 1and3only
(b) 2 and 3 only
{cy 1 anc.i 2 only
(d) 1,2and 3

A one-rupee coin is placed at the bottom of
a vessel. Water is then poured into the _
vessel such that the depth of water becomes

20 em. If water has refractive index 4/3,
the coin would be seen at a depth of -

{a} 20 ¢m
(b) about 26 ecm
(¢} 15em
{(d) 25cm
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~ south ?

Momentum of a body is 92,

1.  a vector quantity.

2. a conserved quantity in an isolated
system.

3. same as force in linear motion.

Select the correct answer using the code given
below :

(a) 1 and 3 only

{b} 2 and 3 only

(¢) 1and 2 only 93.
(d) 1,2and3

Which one among the following is a correct
sequence of the Indian ports from north to

(a) Haldia — Kandla - Paradeep — Kochi
(b) Kandla - Haldia — Paradeep — Kochi
(e} Kandla — Haldia — Kochi — Paradeep
(d) Kochi — Kandla — Haldia — Paradeep

Which one among the following is a correct |94,
sequence of production of coal in the Indian
States in descending order ?
{2} Jharkhand — Madhya
Bengal — Meghalaya
{b) West Bengal — Madhya
Jharkhand — Meghalaya
(¢} Jharkhand - West Bengal — Meghalaya
—Madhya Pradesh
(d) Madhya  Pradesh —Jharkhand — West
Bengal — Meghalaya

Pradesh — West

Pradesh —

Match List I with List IT and select the correct
answer using the code given below the lists : 95,

List I List IT

(Mineral) (State)
A, Bauxite 1. Andhra Pradesh
B. Mica 2. Orissa
C. Copper 3. Madhya Pradesh
D. Zinc 4. Rajasthan
Code : ’

A B C D
(a) 4 1 3 2
by 2 1 3 4
(c) 4 3 1 2
d) 2 3 1 4

{ 20 - A)

The western coasts of India rteceive very
high rainfall in summer mainly die to

(a) Tropical location
(b) Nearness to sea
(¢} Western Ghats
{d) Himalayas

The current produced by -upwel]ing of cold
water off the coast of Chile and Peru is
known as

“{a) El Nino

(b} Humboldt current
(¢) Agulhas current

(d) Canary current

If the ratio of the weight of a man in a
stationary lift and when it is moving
downwards with uniform acceleration ‘a’
is 3 : 2, then the value of ‘@’ is

(a) 3g/2

(b) g/3

, (c) o

(d) 2g/3

A body is thrown upward against the

gravity ‘g’ with initial velocity ‘o’. Which
one among the f{ollowing is the correct
expression for its final velocity when attains
the maximum height ?

(a) u?/(2g)

(b) 2gfu?

) u2g/2

~{d) None of the above
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96. Which one among the following is the correct | 100.
value of the gravitational force of the Earth
acting on a body of mass 1 kg ?

(a) 89N
(b) 98N
(c) 89N
(d) 98 N

97. A neutral (unchanged) metal ball s

suspended using a non-magnetic string. A

- positively charged insulating rod is placed 101

near the ball which is observed 1o be attracted ’

to the rod. This is because

(a} the ball becomes positively charged by
induction

{b) the ball becomes negatively charged by
induction

(¢) there is a ‘rearrangement of the
electrons in the ball

{(d) the number of electrons in the ball is
more than the number of electrons on
the rod

98. 1t is impossible for two oscillators, each
excuting simple harmonic motion, to remain
in phase with each other if they have different
{a) time periods ' 102.
(b} amplitudes
(c) spring constants
(d} kinetic energy

99. Identify the correct sequence of the following |
events of Indian history :

1. Foundation of the Indian Muslim
League

2. Surat Split
Partition of Bengal

4. Transfer of capital from Calcutta to
Delhi ' 103.

Select the correct answer using the code given

below :

(a) 1-2-3-4

(b) 2-3-4-1

(¢ 3-1-24

(d) 4-3-2-1

P-AQNB-L-TNGA (22 - A)

Neel Darpan is a play hased on the story of
Indigo Rebellion of Bengal of 1860 — 61. Who
authored it ? '

{a) Dinabandhu Mitra
(b) Bankim Chandra Chattopadhyaya

{e) Sisir Kumar Ghosh and Motilal Ghosh
joinily

' {d) Madhusudan Dutta

Which one among the following is not the
characteristic feature of the Harappan
settlement ?

(a) Doorways and windows generally faced
the side lanes and rarely opened onto -
the main streets

(b). Houses generally had separate bathing
areas and toilets

(¢) The citadel was walled but the lower
town was not walled

(d) Drains and water chutes from the
second storey were often built inside the
wall

Which one among the following is nof true
with regard to Rig Veda Samhita ?

{a) There are about 300 non-Indo-European
words in Rig Veda

(b) There is a reference to dasarajna (battle
of ten kings) in the Rig Veda

(c) It is mentioned in the Rig Veda that the
Bharata chief Sudas fought against a
confederacy of ten tribes

(d) Purus sided with Bharata in the battle
of ten kings

The First Anglo-Burmese War was concluded
by a treaty. Which one among the following is
that ?

{a} Treaty of Bharma
(b) Treaty of Tamu

(¢) Treaty of Bhamo
{d) Treaty of Yandaboo
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104.
|
|
|
|

+ {a)

Rain shadow effect is associated with

(a)

Cyclonic rainfall

(b) Orographic rainfall
(¢) Convectional rainfall
(d) Frontal rainfall

Match List T with List I and select the
correct answer using the code given below
the lists :

List 1 List I
(Current) (Feature)
A. Kuroshio 1. Warm current in
currenl the Atlantic QOcean
B. Peru 2. Cold current in the
current Atlantic Ocean
C. Labrador 3. Warm current in
current, the Pacific Ocean
D. Flonda 4. Cold current in the
current Pacific Qcean
Caode
A B C D
{a) 3 4 2 i
(b) 3 2 4 i
e 1 4 2 3
(@ 1 2 4 3

The intensity of insolation depends on

Altitude
(.b) Nature of terrain
{¢) Wind
(d) Latitude

107.

108.

109.

110.

{24 - A)

Which of the following statements is/are

correct ?

1. Cyclone is a low pressure system.

2. The wind movement is clockwise in the
cyclone of northern hemisphere.

Select the correct answer using the code
given below :

(a) 1only

(b) 2 only

{c}) Both 1 and 2
(d) Ne:i-ther 1 nor 2

Which one of the following processes  of
weathering belongs to both mechanical and

chemical weathering ?

(a) Crystallization
(b) Exfoliation

{c) Hydration

{d) Carbonation

A man was trapped in a room of a building
which was up in flames. Fire-fighters had to
break window panes which were filled in
smoke to take him out. Once the injured
person is out, he should be observed/treated
for

(a) Superficial burn wound
(b) Electric burn wound
(¢} Respiratory burn

(d) Internal organ injury

AIDS is caused by Human Immunodeficiency,
Virus (HIV) which is

(a)

Relro virus

{b) Lente virus
(c}  Arbo virus
{d} Immune virus
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111. With regard to animal breeding, which one
among the following is not correct ?
(a) In-breeding : Mating of more closely
related animals within the same breed
for 1 -2 generations
(b)  Out-breeding : Breeding of unrelated
animals of the same breed without
common ancestors for 4 — § generations
(¢} Cross-breeding : Supecrior males of one
breed are mated with superior females of
another breed 115.
{(d} Out-crossing Offspring is called an
‘out-cross’
112. Which one among the following statements
regarding heart sound is correct ?
(a) Heart sounds are caused by the internal 1 16
blood flow inside the heart
(b) Heart sounds are caused by the external
blood flow outside the heart
(c) Heart sounds are caused by opening and
closing of heart valves
(d) Normal sounds are called ‘murmurs’
113. Which one among the following cell
organelles is semi-permeable ? 117.
(a) Cell membrane
(b) Plasma.membrane
(e) Cell wall
(d} Nucleus
P-AQNB-L-TNGA (26 - A )

114. Thermometer A and B have ice points
marked al 15° and 25° and steam points at

75° and i25° respectively. When
thermometer A measures the temperature of
a bath as 60°, the reading of B for the
same bath is

(a) 60°
{by 75°
(c) 90°
(d) 100°
Which one among the following most

correctly determines the atomic number of
an element ?

(a) Number of protons

(b) Number of protons and electrons
(¢} Number of ions

(d} Number of nucleons

Potential at a point due to a point charge
is V. The charge is doubled and also the
distance of the point from the charge is
doubled. The new potential is

(a) V/2
(b) 4V
() V

(dy 2V

Which one among the following is used to
make periscope ? .

(a) Concave lens

(b) Concave mirror
(¢) Plane mirror

(d) None of the above
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‘ 120.

7 118. Kilowatt-hour is the unit of 122,

(a) potential difference

(b) electric power

(e} electric energy

(d} electric potential

119. A stable nucleus (light with A < 10) has

(a) exactly the same number  of neutrons
and protons 123.

(b) more neutrons than protons

(c) no neutrons

(d) no protons

In oxidation

1. Hydrogen is displaced from a substance.

2.  an electropositive element is added to or'
proportion of electropositive element
increases in a substance.

Select the correct answer using the code 124.

given below : :

(a) 1 only

(b} 2 only

(¢} Both1and?2

{d) Neither 1 nor 2

. 125.
121. When a copper .rod is dipped in aqueous
silver nitrate solution, the colour of the
solution changes to blue. This is because

(a) Cu is more easily reduced than Ag

(b} Ag is more easily reduced than Cu

{¢) Nitrate ion acts as an oxidizing agent

(d} Nitrate ion acts as a reduc;ing agent

P-AQNB-L-TNGA {28 - A )

The
making 1s

reaction that takes place in soap
called saponification. Basically

soap is sodium or potassium salts of

(a) long chain monocarboxylic acids
(B) glycerol

{¢) long chain dicarboxylic acids
(d) long chain tricarboxylic acids

The number of protons in a negatively
charged atom (anion) is

(a) more than the atomic number of the
element

(b) less than the atomic number of the
element

{(c) more than the number of electrons in
the atom

{(d) less than the number of electrons in the
atom '

The metal constituent of chlorophyll is

(a) Tron

(b} Potassium

{(c) Manganese

(d) Magnesium

During explosion of gunpowder, which of
the following gases in the
proportion of 1 : 3 ¢

are evolved

(a) Oxygen : Nitrogen
(b) Nitrogen : Oxygen
(e) Nitrogen : Carbon dioxide
(d) Carbon dioxide : Nitrogen
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Which of the following statements regarding
Mughal paintings is/are correct ? -

1.  The paintings of Akbar's time were
meostly confined to book illustrations and
portraits.

2. Mir Sayyid Ali of Herat and Khwaja
Abdus Samad formed the nucieus of the
Mughal School of painting which fused
together the non-Islamic and Islamic
elements.

Select the correct answer using the code
given below : '

(a) 1 only

{b) 2 only

(¢} Both 1and 2
(d) Neither 1 nor 2

Which of the following statements regarding
consolidation of British power 18th
century Bengal is/are correct ?

in

1.  The Nawab granted the Company the
Nizamat powers in 1765.

2. The duties of collecting revenues and
administration of justice were entrusted
with the Furopean officials of the East
India Company.

Select the correct answer using the code
given below ;

(a) lonly
(b)Y Zonly
(¢) Bothland?2

(d) Neither 1 nor 2

128.

129,

130.

{30 - A

Which of the following statements about

industrial  revelution. in FEurope is not
correct 7
(a) Britain was the first country to

experience the industrial revolution

(b) England was fortunate as coal and iron
resources were plentifully available, as
were other minerals — lead, copper and
tin — that were used in industry

(¢} From the 1780s,
symbolized  the
revolution

the iron
British

industry
industrial

In England, the movement of goods
between markets was helped by a good
network of rivers and an indented
coastline

{d)

In a democracy, individual differences
encouraged because

are

(a) individuals will place the good of the
nation ahead of their own preferences

(b} individuals will tend to act and think
alike in the long run

{¢} individual differences make for'diverse
beneficial contributions to the commeon
cause

{d) the Constitution guarantees the right of

the individual to act as he pleases

The Supreme Court of India has expanded
the meaning of the Right to Life to include
the following derivative rights. Which one
among the following is not included in the
Court’s definition ?

(a) Right to food and adequate livelihood
(b} Right to education

{c} Right to live in a healthy environment
(d} Right to health and information
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Which of the following statements
correct 7

is/are

1. The major constituent mineral of granite

rock is quartz.

2. The ‘constituent mineral of

sandstone rock is feldspar.

major

3. The

limestone rock is dolomite.

major constituenl mineral of

Select the correct answer using the code
given below :

{(a) 1,2 and 3

(b)Y 3 only

() 1 and 2 only

(d) 2 and 3 only

Which one among the following 15 a

primary rock ?

(a) Sedimentary
(b) Igneous

(¢) Metamorphic

(d) None of the above

is the
largest temperate desert of the world 7

Which one among the following

(a) Patagonian desert
(h) Taklamakan desert
{¢) TIramian desert

(d) Turkmen desert

134.

135.

136.

137.

{32 - A

Doldrums is a

(&) Tropical wind belt

(b) Tropical wind deflection belt
(¢) Sub-tropical wind belt

(d)" Tropical no-wind belt

The Gulf of Mannar is situated along the
coast of :

{a) Tamil Nadu

(b) Kerala

(¢} Karnataka

(d) Andhra Pradesh

-The river with highesi tidal bore in India is
(a) Cauvery

(k) Mazahanadi

(c) Hoogli

{(d) Krishna

Which one among the following is nof a

mixture ?

(a) Graphite
(b) Glass

{c) Brass

{d) Steel
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(a)

What is the power of the lens, if the far
point of a short-sighted eye is 200 cm ?

(a) —-06D

(b) 2D

(¢} 1D

d) -15D

Which one among the following is correct
for resultant of balanced forces ?

1t is zero

(b}

It is non-zero

(c)

It varies continuocusly

(d) None of the above

Three resistance coils of 1 @, 2 Q and 3 @
are connected in series. If the combination
is connected to a battery of 8 V, what is
the potential drop across the resistance
coil of 3 Q 7

(a) 2:0 volt
{(by 3-0 volt
() 4-5 volt
{(dy 6-0 volt
An electric lamp of 100 watt is used

for 10 hours per day. The ‘units’ of energy
consumed in one day by the lamp is

(a) 1unit
(hy 01 um't.
{¢) 10 umits
(d) 100 units

142,

143.

144,
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Which one among the following pairs is not
correctly matched ?

(a) Union List Banking
(b) State List Agriculture
{c) Concurrent List Marriage
{(d) Residuary List Education

Which of the following statements relating to
the Government of India Act of 1935 are
correct ?

1. It introduced provincial autonomy.
2. It proposed a federation of India.

3. 1t proposed for the establishment of a
Federal Court.

Select the correct answer using the code
given below :

{a) 1,2 and 3

(t;) 1 and 2 only
(¢) 2 and 3 only
(d) 1 and 3 only

The ihemes of the murals of the Ajanta
Caves are

1. Decorative designs which include a

- variety of animals, trees and flowers.

2. Portraits of various Buddhas and
Bodhisattvas. ’

3. Narrative scenes portraying Jataka

stories.

Select the correct answer using the code
given below :

(a) 1,2 and3

() 2 and 3 only
{c) 1 and 3 only
(d) 1 and 2 only
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Consider tl;e following statements aboul a
report on ‘Status of Tigers, Co-predators
and Prey in India, 2010’ released by the
Ministry of Environment and Forests in
July 2011 :

1: India registered a 20 per cent decline in
tiger population over the last survey in
the year 2006,

2. The report warns that tigers are in
danger due to an overall more than 12
per cent loss of habitat.

Which of the statements given above is/are
correct ?

{a) 1 only

(b} 2 only

{¢) Both 1 and 2
(d) Neither 1 nor 2

Government of India in July 2011 gave its
nod for accepting international regulations
the pellution
cmanating from ships. In this regard, which

for prevention of  air

of the following stalements is/are correct ?

1.  According to the regulations, limits have
been set on Sulphur oxide and Nitrogen
oxide emissions from ship exhausts.

2. India is the first country to ratify to the

Convention for the Prevention of

Pollution from Ships of the International |

Maritime Organisation.

Seleet the correct answer using the code
given below :

{a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

147,

148.
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The Supreme Court of India on July 29,
2011 directed the suspension of all mining
operations and transportation in Bellary

district of Karnataka 1{ill further orders. In

this  respect, which of the following
statements is/are correct ?
1. The Courl was convinced that

over-exploration of the area had caused
large-scale environmental degradation.

2. The Court felt that Article 21 of the
Constitution (Right to life) was violated
by such exploration.

3. The Court directed the Central
Government to prepare rehabilitation
scheme for restoration of the forest
wealth.

Select the correct answer using the code
given below :

(a) 1,2and 3
(b} 1 and 2 only
{c) 2 and 3 only
(d) 1 only

Which one among the following statements
regarding South Sudan, who officially joined
the - community as  an
independent nation on July 9, 2011, is nof
correct ?

international

{a) The capital of the new nation is Juba

(b) It is Africa’s first post-colonial nation

(¢) India has stationed peacekeepers in
South Sudan

(d) The Nile flows through Sudan before

entering South Sudan and then flowing
into Egypt
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Which one of the following statements ahout
Salwa Judum, the Special Force created to
counter Maoist insurgency, is not correct ?

(a)

(c)

(d)

It was created by the Chhattisgarh
Government in 2005, compriging of about
6500 Special Police Officers or Koya
Commandos

Salwa Judum was initially known as
Jan Jagran Abhiyan

The force was fully funded by the

Chhattisgarh government

The Supfeme Court of India in July 2011
ordered the Chhattisgarh Government to
disband the Special Force and desist
from using them to counter Maoist

activities

150. Why was Sucheta Kadethankar in the news
- recently ?

(a)

(b)

{c)

(d)

{38 - A}

She secured highest rank among women
in Civil Services Examination 2010

She is the first Indian to cross the Gobi
Desert

She is the first Indian to cross the
English Channel

She is the first Indian to climb Mount
Everest twice
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